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Chapter 7 (7.1, 7.2, & 7.4) Practice Test Date Period
Write each expression in radical form.
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Evaluate without a calculator. Clearly show work!!
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Evaluate with a calculator. lRound to 2 decimam
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Perform the indicated operation. SHOW WORK!!!! Circle the answer —_—
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GRAPH FUNCTION AND ITS INVERSE (Label the graphs)
1) Graph the function and label with function notation.

notation,

2) Graph p(x)=x and label. <
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3) Find the inverse of function. Then graph the inverse function and label with function M Lo 2

notation.
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Find the inverse of each function. Use function notation. Circle answer.
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